Trfora ( Maths)

TS - 01 IRAfa® TBTT YTael- 1.1
Y 1. g fauTeH TaMieg &1 IUINT B 7T HCF JTd $Y:

(i) 135 3R 225 (ii) 196 37R 38220 (iii) 867 3R 255
JTR -

(i) 135 3fI¥ 225 BT HCF
a=225 , b=135 (TGS IS BN Bl 2 TUT DI TWN DI b HAA )
gfaare fauTe Tanied & g 4 -

a=bq+r (Td)
225=135x1+90

319 135 3R 90 BT HCF febTad &1

135=90 x 1 + 45

318 90 3fR 45 BT HCF FdTerd B

90=45x2+0 (STIGH r=0 U G I GH M HRAT &G HR A )
b=45 (b HITFMHFCEAIT)

Y UHR HCF 45 5|

(ii) 196 3R 38220 BT HCF

a=38220 , b=196

gfaers fauTe TERE & T 4 -

a=bq+r (d9)

38220 = 196 x 195 + 0
S DR HCF 196 T

(iii) 867 3fI¥ 255 BT HCF

a=867 , b=255

gfaere fauTe = TeniRe & gt




